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DO x®-x-6=(x-3)(x+2)

@ x-4=(x+2)(x-2)

@ - -2x=x(x+1)(x-2)
@ 18x* —2x =2x(3x-1) (3x + 1)

©3x2+6x+3= Bx+1)(x+2)

®3x+6x+3=3(x+1)°
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D-1-242 @ -1+2V2 ® 1-2v2
@ -1-2 ® -1+ V2

P(-1-v2), Q(v2) °|B2
a-b=-1-V2-v2=-1-2V2
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@ (a+b)(a-b)=a®-b?
@(a+b)2:a2+2ab+b2

® m(a+b) = ma+ mb

@ (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

® (a+b)(c+d)=ac+ bc+ad+ bd

2032 — (200 + 3)2 O|B& ¢ — 200, b — 3 0|21 5}
(a+b)* = a® + 2ab + b* & ©]-&5HH Hr}.
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® (a+b)? =a?+2ab + b?
@ (a-b)?=a*-2ab + b?
@) (a+b)a-b) = a®-p?
@ (x+a)(x+b)=x>+ (a+b)+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd

~&B

201 x 199 = (200 + 1)(200 — 1)
— 2002 — 12
= 39999

. (a+b)(a-b) =a®-b*E 0|83t}




D (x+2)2-2=1x2 @ x¥34+1=0

®)2x% + (x—2)? = x? @ x?-3x+1

2242 —dx+4-x2=2x2-4x+4=0
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@ 3x?=1 @ 4(x+1)(x-2)=4
@)x(x-1)(x+3) = 4x @ (x+4)(x=2) =bx+7

® P -dx+6=x>+x2-1

x(x=1) (x+3) = 4x A x* o] EASFEL o] Al e] of
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@ x>-2x=0

@ x+22=0

0 @ (x-2)2=0

® (x-2)(x-5)

® (x-1)?%*=4

‘ (-2+2)*=0
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24+3x+a=0Tx2-2x+b=00°] &

7H o, &4 a, b O] G227

@a=—4,b:1
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OJFFFAA x* —ax+2a-3=0 9
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14. Fo]xPF A (x-1)(x-2) =0, x* + 14 = 9x 9]

o o 1

® -2 @ -1 ® 0

@1

B

(x-1)(x-2)=0 sll=1, 2
x%+14 = 9x

¥+14-9x=0, (x=7)(x=2)=0
=2, 7 wEA FE< Sl 2




15. b oA £ - 3x-18 = 0 9] S B 547 (FE 270)

@ -6 @—3 @0 @ 3 @6

2 -3x-18=0
(x=6)(x+3)=0
Lx=6E=x=-3




16. 0<a<59 M, Va2 +5-da— /(a—-6)2 2 7es] SFAAT, x| =
x o] AdizkS YeRdL))

(@)a—l @ a+1 ® 3
@ 2a-3 ® 2a-1

B ~
0<a<5°9N4a>0,5-a>0,a-6<0
Va2 + 15 —al — /(a—6)2
=lal+|5—al —|a - 6]
=a+b5-a+a-6
=a-1
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17. 0<a<2¥9 ™, /(a-2)2+ /(2-a)? &5

@—2a+4 @ 2a+4 ® —2a-4
@ 2a-4 ® -2a

~&B

0<a<?2°H

—2<a-2<0, 0<2-a<20°]|2=2
V@=27+ /@=ay
=la-2[+[2 -4
=—(a-2)+2-a=-2a+4




18. th& % V3 3 V7 Afolo] Qi Falde?

D V3+2 @ 240 @\’3+\/7

@4 ® V7-3

1<V3<2=3<V3+2<4




19. ©he F V2 9 V5 Al 9] 47} obd AL

©) \/5;”/5 @ V3 @\5—0.1

@ 5-0.01 ® 2

V2-01-2 V2 B} 22 Solr},




20. 2+ V3 Y AFRES 4 5- V10 9 &5

® V3-1 @ 2-+3
@«/ﬁ—l

~&B

1<V3<209|113<2+ V3<4
SLa=3
—4<-V1I0<-39°]Z1<5-+V10<?2
L b=(5-vV10)-1=4- V10
“a-b=3-(4-V10) = V10 -1
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AT HEa=4

A5 BEL =24 VF-4=5-2
“2a+b=2x4+(V5-2)




